R7-6-2

&kt 2

I BIRBREF X DM IR e HEtE

I ERBRERE DIRILIZ DN T

R6 AEFER DB - EAMRELHIT T, 741 AT, R5AEFERIE 1. 9% DRI, R2 4EFERLL 6. 1%
DHI L 72> TOET, BEREREE I — B L CHIINBERIC 5 -7 b D0, R6 AR L E L
FoAS, BRI, TR 2 RO 1 ORI Y. AIRDEE A (H DTV DR
IR BV ER A

o RO BRI Y FV OB C, RE ARREH S ST A58 2 D MR DD 2 < | BT
ST U E Limnd, Biiias L B ORI RE 2 MiEdh 0 $HATLE,

(1) BXR - ENEREERK HQL A
X4y R2 R3 R4 R5 R6 RE=R6 R2=R6
T 1, 949 2,072 2, 146 2,233 2, 165 68 X 216 ¥4
C 5, 346 5, 357 5, 248 5, 364 5,576 212 14 230 14
At 7,295 7,429 7,394 7,597 7,741 144 #4 446 ¥
BN 2. 5% 1. 8% 0. 5% 2. % 1.9% | _— | 6. 1%

XEM  NEFERIREAR (FFEIAD) FYHEH,

REEROHKE
BEXE1 DEXE2 BENE1 DENE2 DENES mENHEL BENES

R6 1,223 942 1,106 |71055 IR 497
RS 1,249 984 N 02 L

R4 975 1,080 |7/ 103 :ii:ii
R3 983 1,184 ffffflf;@&é‘;wf
R2 1,005 1239 [ovors NKER 520
(2) 1 BHRRE OFREEL LFRER BT o A
R2 R3 R4 R5 R6
1 SREERK 7,112 7, 249 7,216 7,424 7,562
B 1 928 1,073 1,158 1,232 1, 209
EXE 2 983 959 952 964 924
GEGI B 1, 656 1,730 1, 740 1,765 1,916
i 2 1,195 1, 141 1,032 1,044 1, 068
A 3 1, 000 994 1,017 1, 048 1,033
i 4 849 884 862 902 937
G s 501 468 455 469 475
AT v o 2 R = 4. 0% 4. 1% 3. 9% 4. 1% 4. 0%
% Wl AR E R 30. 1% 30. 2% 28. 9% 28. 7% 28. 6%
REHR (BEHETT) 17. 3% 17. 6% 17. 5% 18. 0% 18. 4%
PAEZR (FlH IR 16. 4% 16. 6% 16. 7% 17. 1% 17. 4%

XEH  NEERREHREAR (BFFEIAD) JYEH,
RORERIEEFBE NERREFREERE AR (BER I FEEIASLYER,



F1SWRREOEN MR GEER) R

ENES m ENE4 ] ENE 3
CCEMNE?2 = BENEL C1EXIE?2
AEEH e EXIE L —e— REXR (BEiE™) - & —-REXR (BFEE) BER
8,000 19.0%
469 % 475
7,000 [ 4655 b - 18.5%
6 r 0 0 O 849 PR [T, 1 8 . O 0/0
%ﬁiﬁiﬁiﬁ O i fpte 1048 / 15,033
" _.; P P P . 0,
5,000 R / ‘I *8 175 /0
1,195 /’r’"F 1,932 Lo - --7%
4,000 o A -——-A L 17.0%
3,000 - - 16.5%
2,000 L 16.0%
1,000 . 15.5%
0 L 15.0%
R2 R4 R5 R6
(3) RERFBLREMRR
(a) B GERRE HGE 4K HATL : (b) FRERE AR AT«
E R4 R5 R6 X4y R4 R5 R6
HH S 1,727 1,900| 1,872 R 1,573 1, 544 1, 346
AT R 4,167 | 3,176 | 2,502 FEr# 4, 655 4, 469 4,075
R HEE 652 699 636 Y 56 54 47
WG 476 508 633 HF 70 49 63
i Ak 43 32 47 B 6, 354 6, 116 5, 531
* IR U
&t 7,065 | 6,315 5,690 B AMRRER 25 T
* K ARO TENHT LR/ REMSEHN) 205
==k - o gt = s 3
iSRS B 85 ARERE RERERDIR; nEHT
B I B I
8,000 OZEEHRE 7,000 70 e
7,000 P 476 BEHFEHE 6000 54 63 OB/
6,000 =t _
5 000 BHRHEFE 5000 mEXIE
4,000 4,000
3,000 3,000
2,000 2,000
1,000 1,000
0 0

R4

R5

R6

R4

RS

R6




